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Dr. Quattrin
Derivative Test

Multiple choice — Circle correct answer.

L: A normal line to the graph of a function f at the point (x,f(x))is defined to

be the line perpendicular to the tangent line at that point. An equation of the
line to the curve y=13/x?—1 at the point where x = 3 1S
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e) y—2x=-4

2 If f(x)=sin®(3-3), then f(¥)= 3 St (-2 cos (3~ (1)
a)  3sin?(3—x)

b)  —3sin’(3-x)

) -3cos*(3-x)

d)  3sin*(3—x)cos(3—x)
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The figure below shows the graph of the functions f and g. The graphs of

the lines tangent to the graph of g at x=—-3 and x =1 are also shown. If

B(x)

a)

©,
c)

d)

:f(g(x)), what is B'(l)? 2
_ ,~ [ A

I ?)tl-‘;((ﬂ (‘)\03 () ]
2 ’ [ -

? :‘fi(‘»&jm ‘y Q ;

“6_ ."’( \\ <hl\ il % X
1 hEAN R .

. e
% v \\\5y=s(l)
1 A

2

Which of the following statements must b

d—(xsec"x)zsec“er 1 if‘”}: 13 -
dx X2 =1 dx\3x+2) (3x+2)
d 1
@ B;ln(l—X)—ﬁ
I only b) IT only c) II and III only

[ and III only ) I, I, and III

)=+

\
% MMZ‘\\ + Stc = (V) Teve

T (G @-6-2)3) _ -3 FaLse

Y S

(’3 - TZT\L ﬁ (5 s *Z\L

_ (dl\ s -—\-:‘ T Vs



Ouars Quue | woT PRoDICE :’Luudﬂf |
5. If f(x)=sin[ g(x)], then di[f(x)] is = cwé () A (<)
X
a)  sinx-g'(x)+g(x) cosx b)  sinx-g'(x)—g(x) cosx

@ cosx-g'(x) d)  cos|g(x)] g'(x)

e)  None of these
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Selected values of /, g, and their derivatives are indicated in the table above. Let
h(x)= g(f(xz)). What is the value of h’(2)‘?
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s Find the approximate value of %/; using the tangent approximation for %/;
at x=38.
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10. If f(x):ecowx,ﬁnd f”(X).
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1. If f(x): tan2(3x), find f’(x) and f”(x). Write answers in simplified,

factored form.
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12 y:(4x5——3)7(7x2+1) Find % in factored form.
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